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PHILOSOPHY — GENERAL
Paper : SEC-A-1 and SEC-A-2

Candidates are required to give their answers in their own words
as far as practicable.

Paper : SEC-A-1
(Logical Reasoning and Application)
Full Marks : 80
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The figures in the margin indicate full marks.
1. Choose the correct answer (any fen) : %10
(a) According to modern Naiyayika, the probans (hetu) is of
() two types (i) three types
(iti) four types (iv) five types.
(b) That which is characterised by the certain absence of the probandum (sadhya) is the
() paksa (i) sapaksa
(i) vipaksa (iv) none of these.

(c) The sannikarsa operated in the visual perception of the red colour of rose is
() samavava (i) samyukia samavaya
(iii) samyukta-samaveta-samavaya (iv) samaveta samavaya.

(d) Which avayava of paiicavayavi Nyaya is called upanava?

(i) Second (ii) Third
(iii)y Fourth (iv) Fifth.
(e) Asiddha hetvabhasa is of
(i) three types (i) four types
(i) two types (iv) five types.
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(f) ‘Pain is delightful, because it is a state of mind’— It is an example of
() asravasiddha hetvabhasa (i) wvapyarvasiddha hetvabhasa
(i) asrayasiddha hetvabhisa (iv) wapyatvasiddha hervabhasa.

(&) paksadharmata jigna means
(i) the knowledge of the presence of sadhya in paksa
(i) the knowledge of the presence of heru in paksa
(i) the knowledge of the relation between hetu and sadhya
(iv) None of the above.

(h) How many types of explanation are there in logic?
(i) Two types (i1) Four types
(iil) Six types (iv) Five types.
(1) ‘Triers of Fact’ refers to
@) the jury (i) honourable judge
(iif) both the jury and the honourable judge (iv) plaintiff.
() Analogical arguments are not to be classified as either valid or invalid. Probability is all that is
claimed for them. — This statement is
(i) true } (i) false

(i) impossible (iv) meaningless.

(k) The basis of unscientific explanation is

(1) blind faith and superstitions (ii) observation

(iii) experiment (iv) none of these.

(1) The language which is employed in legal proceedings is

(i) informative (i) expressive
(iii) directive (iv) emotive.
2. Answer in brief (any five) 5x5

(a) Explain kevalavyatireki anumiti with a suitable example.

(b) Explain sarmyukta samavava and samyukia samaveta samavaya sannikarsa with suitable
examples.

(c) Explain savyabhicara hetvabhasa with examples.

(d) Distinguish between good analogy and bad analogy.

(e) Discuss with examples the remote and proximate causes in context of legal controversy.
(f) What is the fallacy of ambiguity? Explain with an example.

(g) What is meant by ‘standards of proof’?

(h) Describe the method of inquiry used in legal process.
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3. Answer any three questions :

(a) What is meant by hetvabhasa? Discuss different types of asiddha hetvabhasa with examples.

(b)

(c)

(d)

(e)

(f)

3+12

What is the fallacy of relevance? Explain any 1wo types of fallacy of relevance with suitable
examples. 5+10
Distinguish between svarthanumiti and pararthanumiti. Explain the nature and function of
each avayavas of pararthanumiti. 5+10
Give the definition of paksa., sapaksa and vipaksa of an inference. Determine the paksa,
sapaksa and vipaksa of the inference— ‘sound is non-eternal as it is an effect’. 10+5
What is law? How many types of law are there and what are these? Make a distinction

between criminal law and civil law with examples. 5+(5+5)

Discuss in detail, the criteria for appraising analogical arguments. 15
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